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1. In original therewasno provisionof feedbackconceptandyou cannot go backto anyprevious
stage.
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Waterfall model Click herefor more detail

RAD
Spiral
Incremental

is thefirst stageof waterfalllifecycle model
Requirement definition PG#15
Operation
Unit testing

Implementation




3. Theincrementamodelof softwaredevelopments

(0]

(@)

(0]

(0]

A reasonablapproactwhenrequirementgarewell defined.
A good approach when a working core product is requed quickly.
Thebestapproactio usefor projectswith largedevelopmenteamsandrisky projects

A revolutionarymodelthatis not usedfor commerciaproducts

4. Which statemenis correct?

(@)

(@)

(0]

The greater the dependency between the componenketgreater is coupling
Thelesseithedependenchetweerthe componentshegreatelis coupling
Thegreateithedependenchetweerthecomponentshelesseris coupling

Noneof thegiven

5. Which of thefollowing formulais usedto calculatethe exposurdor eachrisk?

(0]
0]
(0]
(0]

6. In

RE = Probabilityof therisk + Cost

RE = Probability of the risk x Cost PG # 89
RE = Probabilityof therisk * Cost

Noneof thegivenchoices

ateamis structuredalongatraditionalhierarchyof authority.

Randomparadigm
Openparadigm
Closed paradigm PG# 32

Synchronougaradigm




7.1n ateamis structuredooselyanddepend®nindividualinitiative of theteammembers.
o0 Synchronougaradigm
0 Openparadigm
0 Random paradigm PG#32
0 Closedparadigm

8. An is a useridentifiablegroupof logically relateddataor controlinformationmaintained
within theboundaryof theapplication.

o Internal logical file (ILF) PG#42
o Externalinterfacefile (EIF)
o Externalinput
o ExternalQuery

9. Thefirst, publishedmnodelof softwaredevelopmenprocessvas:
o Waterfall Model PG#15
0 IncrementaModel
0 RAD Model
o0 SpiralModel

10.“SynchronizeandStabilizeModel” hasbeenadoptedoy:
o Microsoft PG#19
o IBM
o0 OracleCorporation

0 SunMicrosystems




11. Projectmanagemeris intensiveactivity
o People PG#30
0 Product
o Process
0 Resource

12.An is thesmallestunit of activity thatis meaningfulto the user(s)s called

o

Functionpoint
o0 Elementary process PG#43
0 Adjustmentfactor
o Datacount
13.Which of thefollowing is oneof themechanism$o measurehe sizeof the software?
0 Numberof Comments
o Function points PG#38
0 Meantimeto failure
o Errorindexvalue
14. Softwareprojectmanagemerrimarily dealswith metricsrelatedto:
o Developmenprocess
0 Defects
o Availability

o Productivity and quality PG #65




15. In contextof individual controlcharts if a singlemetricsvaluelies outsideUNPL, it meanghatprocesss:
o Within thecontrol
o Out of the control PG#T77
o Normalized
o Notnormalized

16. distributesestimatedeffort acrosghe plannedprojectdurationby allocatingthe effort to
specificsoftwareengineeringasks

0 Projecttracking
0 Projectcompartmentalization
o0 Project scheduling PG#92
0 ProjectEstimation
17.In contextof degreeof rigor, TSSstanddor:
o Task set selector PG # 96
0 Taskssetin schedule
o Time setselector
o Time setin schedule

18.Whenmorethanoneusersnterpretthe samerequirementn differentwaysthenwe cansaythatthe
requirements:

(@)

Unambiguous PG#71

(@)

Incomplete

Incorrect

(@)

o

Ambiguous




19. Degreeof uncertaintythatthe productwill meetits requirementandbefit for its intendeduseis:
0 Resourceisk
o Costrisk
0 Scheduleisk
o Performancerisk PG #87

20. Softwareprojectschedulings anactivity thatdistributesestimatedeffort acrosshe plannedprojectduration

by allocatingthe to specificsoftwareengineeringasks.
o Effort PG#92
0 Budget
0 Space

0 Resources
21.1f acompanyis at CMM level 3 thenit implicitly meanghatit is performingall the KPAs of
0 Levell
o Level2and Level 3
0 Level3alone
0 Levellandlevel3

22. is adocumendrivenmodelbecausea setof documentss producecdat eachlevel of the
model.

o Waterfall model PG #16
o RapidPrototypingModel

0 IncrementaModel

o0 Noneof thegiven

The Waterfall Model is a documentation-driven model. It therefore generates complete and comprehensive documentation and
hence makes the maintenance task much easier.




23.Which of thefollowing questionss not addressevhenthe W5HH principleis applied?
o What will be doneby whom? PG#35
o Whyisthesystembeingdeveloped?
0 Wherearetheyorganizationallyjocated?
0o How muchof eachresourcas required?

24. Theextentto which aprogramsatisfiegts specificationandfulfills thecustomer’anissionobjectivess saidto
beachievingthe:

o Usability

o Efficiency

o Reliability

o Correctness PG#67
25.MTTC is theabbreviatiorof:

0 Measuredimeto change

0 Meantimeto collaborate

0 Meantime to change PG #68

0 Measurdimeto cope

26. Althoughtherearemanydifferentmodelsdevelopedy differentresearcherfor estimationall of themshare
which oneof thefollowing basicstructure

o E=3.2(KLOC)1.05
0o E=A+B* (evf PG#81
0o E=[LOC x BO. 333/P]x (1/t4)

o Noneof thegiven




27.Risk Analysisandmanagemeritivolvesaddressinghefollowing concernsgexcept:
o Whatchangemight causeherisk to strike?
o0 Whatthingmaygowrongin future?
o Whatcanhappenf thewebinterfaceof thecompany'svebsitewill change?
0 What is the nature of software domain? PG # 84

Risk analysis and management involves addressinfpliowing concerns:
1. Future -what risks might cause the project to go awry
2. Change — what change mightise the risk to strieeHow changes in requirements, technology, persambther
entities connected to the project affect the ptojec
3. Choice — what options do we have for each risk
28.Which of thefollowing is not oneof the characteristicso describea KPA?
0 Resources PG#13
o Goals
0 Activities
o Commitments
29.Whichoneof thefollowing is NOT anobjectorientedife cyclemodel?
0 ExtremeProgramming
o FountainModel
o RationalUnified ProcesgRUP)model

o0 Rapid Application DevelopmentModel PG#23to 24

30. iIs NOT oneof thegenericstructuralparadigmgproposedy Constantine.

0 Closedparadigm
o0 Randonparadigm
0 Hybrid paradigm PG# 32

o0 Synchronougaradigm




31.Thedegredo which softwareperformsits functionis called

0 Maintainability

o Correctness PG #68
0 Integrity

0 Interoperability

32. A systemfor which the physicalor intellectualskills requiredto learnthe systemarelow, is calledhighly
system

0 Available
o Usable PG#69
0 Maintainable
o0 Flexible
33. Riskmitigationinvolves
o0 Reducingheimpactof risk
0 Reducing the risk management plan
0 Redesigninghecontingencyplan
o Performingtherisk analysisagain
34. A schedulalevelopedat earlystagef projectplanningis called:
0 Macroscopic PG#92
0 Beta
o0 Visionary

o Concrete




35.Foraproject,if valueof TSSis 0.9,thenthedegreeof rigor for this projectwill be:
o Strict
o Structured
o Casual PG#97
o Strictor Structured

36. In contextof functionpointanalysis El standgor

0 Exportinput

0 Expertinput

o Externalinline

o External input PG#49
37.The rapidapplicationdevelopmeninodelis

0 Anothernamefor component-basedevelopment.

o0 A usefulapproactwhenacustomeicannotdefinerequirementslearly

0 A high speedadaptation of the linear sequentialmodel. PG#19

o All of thegiven

38.If anexperiencediserhasto takeanextensiverainingof softwarebeforeuseandhe/shestill finds difficulty
to useit, we cansaytheremaybeissuegelatedto the

o Usability PG # 67
o Portability
o Correctness

0 Reliability




39. DefectRemovalEfficiency (DRE) canbe measuredby whereE is Errors found delivery andD is
error found after delivery (typically within thefirst yearof operation):

o DRE=E/(E+D) PG # 69
o DBE=E- (E+D)
o DBE=E1(E+D)
o Noneof thegiven
40. After building the DecisionTree,following formulais usedto find the expectedtostfor anoptionis:
0 ExpectedCost=) (path probability)i * (estimatedpath cost) PG#83
0 ExpectedCost=) (pathprobability)i/ (estimatedgathcost)
0 ExpectedCost= (pathprobability)i + (estimatecpathcost)
0 ExpectedCost=) (pathprobability)i - (estimategathcost)

41.1n which stageof softwaredevelopmentoop, we try to find the solutionof the problemontechnicalgrounds
andbaseour actualimplementatioronit.

0 Implementation

o Testing

0 Technical Development PG#10
0 TechnicalDesign

42.The SoftwareEngineeringnstitute(SEI) hasdevelopeda frameworkto measurehe processnaturity of
softwareorganizationsThis framewaorkis knownas

o0 Softwareengineeringramework

o Softwarelife cyclemodel

(@)

Capability maturity model PG#12

(@)

Procesngineeringramework




43. Accordingto Kraul andSteeter;Email” is anexampleof projectcoordinationtechnique.

o Formal,impersonal
o Formal,interpersonal
0 Electronic communication PG#33
0 Interpersonahetworking
44.Which of thefollowing is NOT oneof the5 stepsdefinedby Reelto improvethe chance®f success?
o Startontheright foot
0 Maintainmomentum
0 Makesmartdecisions
0 Optimize Product. PG#35
45. In contextof functionpoint analysis EQ standdor:
0 ExternalQuotation
o External Inquiry PG#49
o ExternalQuality
o Externalinterface

46. Degreeof uncertaintythatthe productwill meetits requirementsindbefit for its intendeduseis called

o Performancerisk PG # 87
o Costrisk
0 Supportrisk

0 Scheduleisk




47.Evolutionarysoftwareprocessnodels
0 donotgenerallyproducethrow awaysystems
o All of the given
0 caneasilyaccommodateroductrequirementghanges
0 areiterativein nature

48. is ateamorganizatiorwherethereis no permanenteaderandtaskcoordinatorsare
appointedor shortduration.Decisionson problemsandapproacraremadeby groupconsensuand
communicatioramongteamis horizontal.

o Democratic decentralized(DD) PG#32
o ControlleddecentralizedCD)
0 Synchronouparadigm(SP)
o Controlledcentralized CC)
49. SpiralModel wasfirst proposedy:
0 McCabe
o Barry Boehm PG#20
0 RobertCazeman
o William Smith

50. Barry Boehmhassuggestea systemati@pproach{comprisingof 7 questionsjo projectmanagementt is
knownas:

o W5HH PG#35
o WHH5
o WHH7

o W/7HH




51.In orderto usethedatafor estimatioranddrawingconclusionsit mustbe
o Filtered
o Base-lined PG#72
o Stabilized
o Processed
52.Thepurposeof thefeasibility analysiss to determine
o Canwe usetheavailablestate-of-the-art?
o Canweimplementthegivenstandards?
o Canwe meetthedesignconstraints?
o Canwe build softwareto meetthe scope? PG#81

53. Which of thefollowing areadvantagesf usingLOC (linesof code)asa sizeorientedmetric?

(@)

LOC is easilycomputed Click Here For More Detail

o LOC isalanguagalependentneasure.
o LOC s alanguagendependenieasure.
o LOC canbecomputedeforeadesignis completed.

54.Determinatiorof the Is a pre-requisiteof all sortsof estimatesincluding,resourcesime, and
budget.

0 softwareQuality
0 softwareRisk
0 software scope PG#80

o softwareManagement




55. Themostfamousof empiricalmodelsis the COCOMO(ConstructiveCOstMOdel). It alsohasmanydifferent
versionsWhich oneis the simplestof theseversions?

o0 E=A+B* (ev)©

o E=[LOC x B®*¥¥PPx (t*)

0 E=A+B-(ev)

o EEENETe PG#81

56.A goodmetricsystemis theonewhichis

o Simple

o Cheap

0 Addsalot of valuefor themanagement

o All of the givenoptions PG#78

57. is the ability to encouragéechnicalpeopleto produceo their best.

o Planning
o Contingency
0 Motivation PG#30
o Organization
58. Integrity canbe measuredby thefollowing formula
o Integrity= (1-threat)x (1-security)
o Integrity=> (1+threat}+ (1-security)
o Integrity = ) [(I-threat) x (1-security)] PG#69

0 Integrity="> (1-threat)- (1-security)




59. In measuringsoftwareProces®uality by usingcontrolcharts|f the gapbetweerthedefectseportedand
defectdixed is increasingthenit means:

o0 The product is in unstable condition. PG#78
0 Theproductis in stablecondition.

0 Theproductis readyfor shipment.

o Noneof thegiven

If the gap between the defects reported and defects fixed is increasing, then it means that the product is in unstable condition.
On the other hand if this gap is decreasing then we can say that the product is in a stable condition and we can plan for
shipment.

60. Softwarefeasibilityis basedbn which of thefollowing:
o Technology,finance,time, resources. PG#81
o TechnicalProwersof thedevelopers
0 Businessaindmarketingconcerns.
0 Scopegconstraintsmarket.
61.In proactiverisk managemergtrategythe mainobjectiveis to
o Avoid risk PG#84
o0 Lettherisk occurandthentakecorrectiveaction
o Categorizeherisk
o Normalizetherisk

62. is oneof thereason®f theprojectfailure.

o0 Miscommunication PG#93
0 Realisticdeadline
o Completerequirement

o0 Feasiblecost




63. Which of thefollowing is notavalid reasorfor measuringoftwareprocessegroductsandresources?
0 To characterizéhem
0 Toevaluateghem
0 To price them
o Toimprovethem
Valid reasons for measuring software processes, products, and resources:
To characterize them, To evaluate them, TO improve them
64.FP-based@stimationtechniquesequireproblemdecompositiorbasedn
o information domain values
0 projectschedule
0 softwarefunctions
0 processactivities
65.LOC-basecdestimatiortechniquesequireproblemdecompositiorbasedn
o informationdomainvalues
0 projectschedule
0 software functions
0 processactivities
66. Theproblemthatthreatenshe successf a projectbut which hasnot yethappeneds a
0 Bug
o Error
o Fail

o0 Risk Click here for more detall




67.In orderto planandrun a projectsuccessfullya projectmanageneedNOT to worry aboutthefollowing
issue.

o Productquality
o Costestimation
o Company's name PG #23

0 Riskassessment

Note: Give me a feedback and your Suggestion also If you find any mistake in mecqz plz
inform at above mentioned email address. And tell me your answer with references.
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